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—=H 27,5641 27,381 27,1201 82,065 46.49%
E 59,1981 58,856 1 58,4731 176,507 100.00%
(2) ®B&iEEEE
X 2 KRBT —=H B
WEEE] A ([/2<EEZE) 13,231,702 11,880,658M 25,112,360/
WEALZ B (I/2x AOZEIB) 13,437,624/ 11,674,736M@ 25,112,360/
EE ([ fho=iE C (A+B) 26,669,326H 23,555,394 50,224,720/
(LB CRLE U=/ D = =
S E 5,269 4,731 10,000
FER F
BRI, G (E+P) 5,269 4,731H 10,000M
=EEET H (C+D-G) 26,664,057M@|  23,550,663M 50,214,720M




2 Ry MRMNLOYR(CRZERGRE

O EEE
<zZHFELE>
X v S5 EE
WIPER 1 48,254,747
& YA DIt 5 — e 48,001,000/
RIBEE LA IBE (VY1 0)Lz> 45 —o]RiKEILIEE) 253,747H
ERMLIRES - RARALDIBAMBE (VYo D)L 1> 5 — RN EINIEE) (0] 5]
ERINA L 12,675,000M
mOA I B [BEALLEE 12,675,000M
FE
O (1-1) 35,579,747M
O ERaiEnEXA
(1) EHRsBIEs
7 BEEERIEEE (50%) SAIBAOZE (50%) THRD Y D.
o EBRHRCIEACDG, YZEE 3ENOTHET S,
D HEEER 3 ERONUEEMNMEETEZTRVES(E. HXEELSHTIBIETEZUIBETHET 3,
I BRSEIIEOEE5TH100%(CHRIERVNEEXIIBX DI5E(E. FTEOABEISTHREY 3.,
(2) BEBEEDHES
BIB20FERT. UZEEFTERICEDEMHFC E(CHERT B,
(3) BilEE0EE
7 EBEBNMUEE, JUBAOOHETE. BEEUNSXEREOSIBEXETES .
4 BIEEBEREIE. BEEFE 2MNHEHICBVWTEET D,
O SHsEEasEe
<BEFELE>
(1) &iEzxsE
77 AREE|
R2EE R3EE RAEE = y=FisEsy
PN ] 100t 103t 103t 306t 52.67%
—=0 91t 92t 92t 275t 47.33%
=F o1t 195¢ 105¢ 531t 100.00%
% B4 FEIEREBENEE L TULRULZS., Bl 3 FE ERIE
o MIBACE
R2EE R3EE RAEE Eili y=FisEsy
PN ] 31,6344 31,475 31,353A 94,462 X 53.51%
—=H 27,564 X 27,381A 27,1201 82,065 46.49%
E 59,108 K 58,856 X 58,4731 176,527 X 100.00%
(2) ®B&iEEEE
X 2 KRBT —=H B
MIEEE] A ([/2xEREE) 12,707,887 11,419,486M 24,127,373
WIEAIZE] B (I/2x AEIS) 12,910,558M 11,216,816M@ 24,127,374F
EE ([ fho=iE C (A+B) 25,618,445M 22,636,302M 48,254,747H
[EfBHE CAUBCZEA D — —
S E 6,675,922 5.999,078M 12,675,000
FER F
BRI, G (E+P) 6,675,922 5.999,078M 12,675,000
=EEET H (C+D-G) 18,942,523M0 16,637,224M 35,579,747M




